s

HLA10VSO/32 R5IZEEIEER

Variable Displacement
Pump HLA10VSO/32

HLA10VSO/31 25T SHFER

Variable Displacement
Pump HLA10VSO/31

TIREADRERDERAT

Ningbo Hilead Hydraulic Co.,Ltd



o | AT
Company Profile

EBHREMZTF1967F, RE—RBATREESHRARNTE

SHigNEREARY, BE|EXEEMINENRE, 238
KRB AKS, BEESRERNTNMRESHE, BETERAN
BEXMREM, SHEERHAERESR, HITERSHEERS
H, HSHEhERERME ML,
ATDEBUTTREFE, EFEMUTTRERTHENR, BN
RGii3t1008, BRIAANERRERFENRETLE, N
RER, BEDSXIRERERSZITHE. ATNER#ON
WMIPORE, HESEMIPL, AEEEERKRSSER
£8024E,

ATNEHEZ70ERE, RABRITESERARE"R.
BAl, AAEREESRFBMBEIESR. KERENAEFF
miE, ZREBNE. BRESRESEFARINE, 2FA0F
BELER, RMARERXENETILY, ATKPRES PH
ET S CONMRNBTXBPRIERE, BEESRERBEE
IEXREE,

2010FEAT /A2 V2SR BREFEMMBENETE

i, BEMERIEI00E, FRHETHEINSTEEER,
REAHUTHSEHEN, BRXAN EHBERRRT. A8
BEEASRERNERSNEERDEANR PO, TRESED
SHBRNEERDARNES,
ATRERREFRHL  AVHEERN RZ—, RhEs
B, 5iIX%. HLUKXP. 704fSSRUBNETRZF
ABRFEE. AT T2009EXKEREHERCLRS,
2010£F, HL AAVEEHOEERFRERNZBERERNT
MRS, ATHEERLI2E. BRIBH2E. L+BHRARER
B, AREESHMIRAFR, BILEBHECHEHRBENTNS
TSCAMBEER,

Founded in 1967, Hengli hydraulic is a high-tech enterprise
dedicated to the research, development and manufacturing of
hydraulic transmission technology. With all kinds of advanced
processing and testing equipment, the company has always been
guided by science and technology. Through deep cooperation with
authoritative scientific research institutions, the company has laid a
strong foundation for independent research and development. A
number of products are the first in China, filling in a number of
technical gaps in China, and striving to be the leader of China's
hydraulic industry. Plunger hydraulic pump

The company is headquartered in Ningbo high tech Zone, and
its production base is located in Yinzhou District, Ningbo City. The
two factories cover an area of 100 mu. At present, the company's
product categories run through the entire hydraulic industry chain,
from hydraulic pump, hydraulic motor to hydraulic complete
system design and manufacturing. The company imports two
four-axis machining centers from Germany, with more than 80 sets
of various equipment, such as multiple machining centers,
large-scale CNC boring and milling machines.

Since the 1970s, the company has been providing supporting
products for the Chinese navy. At present, the company has
obtained the qualification certificate of equipment manufacturer,
scientific research and production license of weapon equipment,
three-level confidentiality -certification, quality management
system certification of weapon equipment. The company is under
the jurisdiction of Shanghai Bureau of haizhuang, and has become
a real military enterprise. The company has long supported all
kinds of deck machinery and equipment researched by CSIC
(Shanghai No.74), which has been applied for several years
without any major quality problems.

In 2010, the company invested more than 210 million yuan to
build a new oil pump production base and hydraulic press
production base, covering a total area of nearly 100 mu, with an
annual design production capacity of 50000 plunger pumps and the
ability to assemble all kinds of hydraulic presses below 10000 tons.
At present, both bases have been put into operation. The company
has built the most advanced and functional plunger pump motor
testing center in China, which can provide various types and
specifications of plunger pump motor testing tasks.

The company is one of the earliest manufacturers to develop
HL A4V plunger pump in China, with strong scientific research force.
It has carried out extensive and in-depth scientific research
cooperation with Zhejiang University, Yanshan University, 704 and
other scientific and technological institutions. In 2009, the company
won the title of national high-tech enterprise, and in 2010, hladv
high-pressure axial piston pump won the title of national key new
product of the Ministry of science and technology. The company has
2 doctors, 2 senior engineers and dozens of graduate teams. The
company has a number of intellectual property rights, and so far
has 6 invention patents and a number of utility model patents.



HLA10VSO/32 RINTEHFER

Variable Displacement Pump HLA10VSO/32

H % Contents

—_
.

BUS 1B Ordeting Code s s 4

2. ZE#JE Construction....

3, R By dranlic Huid . rmmmanansenrnmm 5
4, TESY Parameter v 6
5. RIEFEEIN Installation NOES .....vvvververeerrreerieieniens 7
6,, BHl AR Confroller s wnmmammmenemsrmsnsma 9
7. RFEERER T Mounting Dimension ............c.cocoeeeeeennne 11
8. 1#%H R ~F Dimensions through drive.......cco.coovevierirrieennnne 16

4% & Features

B ATAXEBENH R EER,
Swash plate design axial variable piston pump used in open
circuit.

B RESEHEEMHEM L,

The flow is proportional to the drive speed and the displacement.

B ESETEENERAEIATRTE,
The flow can be steplessly varied by adjustment of the swash
plate angle.

W SHEZRBRHE TR ER N

Hydrostatic unloading of cradle bearings.

B RYOEFEEHERRFED,

Port for pressure transducer in pump outlet.

@® HILEAD

& Size 45~180

#7 series 32
ERE £ 71 Nominal pressure 280Bar
IE{E £ 71 Peak pressure 350Bar

#1XHEAEZER Swash plate design axial variable
piston pump

EREER.

Low noise level.

RERkF

Low pressure pulsation.

BHE,
High efficiency.

SN Wit ERE R E IS ERIBE 138,
High resistance against cavitation, suction pressure drops,and
housing pressure peaks.

1 PR A

Universal through drive.



HLA10VSO/32 RIIEBIHEER
Variable Displacement Pump HLA10VSO/32 @ H I LEAD

#1584 Ordering Code

[HLA10VS [0 [71[DR] / [32] R[]V [P [B [220]99 ]
|

ﬁﬁﬁ AR R S
Model Variable pump, Swashplate design i FR
i R 280bar Po;;.mjor s/e\r;};;@zll;;;m[m 45 71 100 140 180
12N-—P4{MISAE, il L
Rated pressure 280bar SAE flage on opposite side, fixing A A A )
e thread metric, without through drive
s /1350bar
L) 220K BLI2N, AR TRama M)
Peak pressure 350bar like 12N however with universal N N N N
through drive
T 62N— W fIISAE, UNCERE, JCi b5 vl vl y
BATHE: R, FFAER Shrcad Thcswi thout. throsgh arive.
Mode of operation Pump, open circuit 72U MISAE, UNCERZL
like 62N however with universal 2N VAN VAN V)
[ through drive
Bk HER: 45, 71, 100, 140, 180 (ml/1)
. L e
Displacement 45, 71. 100, 140. 180 (m1/r) = —
I Mounting flange 45 71 100 140 180
B--1S0 3019-2, Ui
77K 150 3019-2 ~ 4-boit | Y | Y| Y| Y
Controller 45 71 100 140 180 D—180 3019-1, MUkt | , | 4 | 4 [ v
1S0 3019-1 — 4-bolt
— fil R
s ol e ol I Shaft end 45 71100 140 180
DRG-—zE A2 1e K42 ] J | |« | 2 P— A H R
Remote pre J?U;S/Cfog‘g}m o Metric parallel with key VIV
73/, X-THF )= S—SAE
Pressure and flow control N v v N SAE spﬁﬁd 8 v M M
TR T R—SAE T S
DRS (DFRT) I 3/ R, T30 A aw
Pressure and flow control v v v J (higher through drive torque)
X-T closed K—SAET-t 7 7 7 7
LAXD (6) - H 73/ Th % il SAE pa i
Power control with pressure cut of S purallel with ke
X BB Beginning of pover control S «
LASD __ below 50bar o J 3 J _ &'id‘ﬁ—
A6 3 1 to 90 ba A F=3 " -
[ATD fron 1 to 160 bar Seals  V——FKM (JUf§H) flour-rubber
LASD il m 60 to 240 bar
20D ovor 210 bar - L BRI OAHSHE) : RIAIER  clocknise
Eﬁézsﬂlfﬁofﬁﬁjiﬁﬁm v Vv v v Direction of Rotation L**iiﬂﬂ"ﬁ' anti-clockwise
LAXS— ittt/ 2y 4 ]
Power and flow control o+ 4 M Y - f“pﬁx%ﬁﬂ: 32741
Series 32 Series
pLLEE
With through drive to accept an axial piston pump or a gear pump 45 L 100 140 180
A
Without through drive M M ol b 00
RIS, O (Ea, TR, A B, W EMIA TR A 99
Vithout through drive,with shaft for through drive, without shaft coupler, without dddgler flange, closed with cover
LA i/ E %3
Mounting flage Shaft/coupling For the mounting of
1S0 80, 2 hole 3/4 in 11T 16/32DP 10, 18 series 52/31(shaft S or R) N o J J B2
1S0 100, 2 hole 7/8 in 13T 16/32DP 28 series 31(shaft S or R) N N N N B3
1 in 151 16/32DP 45 series 31(shaft S or R) N VAN VAR BV} B4
1S0 125,4 hole 1 in 15T 16/32DP 45 series 32(shaft S or R) J N J N E1l
150 160, 4 hole 1 1/4 in 14T 12/24DP 71 series 32(shaft S or R) J N v B8
1S0 180, 4 hole 11/2 in 17T 12/24DP 100 series 32(shaft S) J N B9
1.3/4 in 131 8/16DP 140 series 32(shaft $) J B7
SAE 82-2,2 hole 5/8 in T 16/32DP External gear pump F(5 to 22) A N N N 01
3/4 in 11T 16/32DP 10, 18 series 52/31(shaft S) v v J J 52
SAE 101-2,2 hole 7/8 in 131 16/32DP 28 series 31(shaft S or R) v v N v 68
1 in 15T 16/32DP 45 series 31(shaft S or R) AN IRV VAR V) 04
SAE 127-4,4 hole 1in 15T 16/32DP 45 series 32(shaft S or R) N N N N E2
1 1/4 in 14T 12/24DP 71 series 32(shaft S or R) J v N 15
SAE 127-2,2 hole 11/2 in 17T 12/24DP 100 series 31(shaft S) J v 24
SAE 152-4,4 hole 11/2 in 17T 12/24DP 100 series 32(shaft S) VJ N 96
13/4 in 137 8/16DP 140 series 32(shaft S) ] 17




HLA10VSO/32 RN EEHER ~
Variable Displacement Pump HLA10VSO/32 @ H I LEAD

¥ BEE EE SHEE i BES gl E &
ST, T

SHRSHY  WARTECE O, BARREL ":'ﬂl’.ﬂ CONTRIL CIWER
TE PLATE , przTom ° HALTE

E BN\

oSG

ezt | . AN
]

ST E 5

o0 ¢ o

o O & O

# = \ :
FISTN ™\
BhEE B

FETTRING 3 | |
FlsTm r .

=. ##& Hydraulic fluid j

|

o EATFH MM The A10VSO variable displacement pump is o HRESEREIRIRH Viscosity limits

suitable for use with mineral oil. Vo =10mm’/s 4G RE EJZE 90 CiiiR # & K it i 15 TR AR B
short term at a max. permissible drain of 90C .
o T {E#4ESEE Operating viscosity range V. =1000mm’/s 45F &4 #2BHE short term on cold start

ATRERENBEMES, RNEFILHRPTIERE

(FEHERENITIERET) EEEUTEEMA : In order to obtain * REEEHE Temperature range (see selection diagram): 25 ~ 90°C
optimum efficiency and service life ,we recommend that the operat- o JEFHiKHYERHED Notes on the selection of the hydraulic fluid
ing viscosity(at operating temperature) be selected from within the AT ERIE ARER, SRMERERRETERE (FX

range. [E] 8% ) FIRESIRERIX R In order to select the correct fluid , it is
Vopt= 54 T/E#EBE opt. operating viscosity necessary to know the operating temperature in the tank (open loop)

1686 Hita2ls in relation to the ambient temperature. #RIFIZFAER, NEEHRAE
5idfERE ( Fmeg ) 8%, iR TERESEE R, kA EERESEEE (Vopt &£
Referred to the reservoir temperature(open circuit). MREE ), HEWERMATEANREZR S RTREER

B EZ% S, The hydraulic fluid should be selected so that within

e JEFAER Selection diagram
the operating temperature range, the operating viscosity lies within

-20° 0° 20° 40°  60° 80° 100°

1000 4t 1000 the optimum range ( v opt) (see shaded section of the selection
288 diagram). We recommend that the higher viscosity range should be
chosen in each case.
= [ RTR
N‘é;l 00 o HiAITIR Filtration
ﬁig gg IR, T/EREHNBEEME, WRNEFGFHEK, K
%2 4 THRIEHZERTHOIERINEE, HROBFZEEED A NAS
1638.9 &5l , 1SO/DIS4406 B 18/15 £,
201 The finer the filtration the better the cleanliness of the pressure fluid
153 and the longer the life of the axial piston unit.To ensure the function-
ing of the axial piston unit a minimum cleanliness level of: 9 to NAS
Lo e 408 A A Gie B %ﬁl%;ﬁ B1(C) 1638 18/15 to ISO/DIS 4406 is necessary.

L ST Temperature
o BURE T

" (Fluid temperature range)




HLA10VSO/32 RHTEFER
Variable Displacement Pump HLA10VSO/32 @ HILEAD

FE S Parameter g

im0 TEE N ER Hil A TEEEE

Operating pressure range - inlet Operating pressure range - outlet

MO (S O) MBEXEN HM0 (B @) EF Pressure at port B

Absolute pressure at port S AFRIE 7] Nominal pressure Py——————-——280 bar

Pos min(Size 45 - 100 at 1800 rpm)------------ 0.8 bar IE{& £ /7 Peak pressure P, ———————————350 bar

Poos min(512€140-180 at 1800 rpm)-------—---- Ibar BIFR TAEEA (&5 10% EEREEA) ———-315 bar

B 10 bar Applications with intermittent operating pressures up to 315 bar at

10% duty are permissible.

SE{IC il £ #1 Case drain pressure

im0 (L, L) RAREES: SEFEEHEKMOES 0.5bar, BREST 2bar HIHITES.
Maximum permissible pressure of leakage fluid (at port L, L,):Maximum 0,5 bar higher than the inlet pressure at port S, but nohigher than 2 bar
absolute.

HIER (FBIB1E ) Table of values (theoretical values)

HAE Sizes 45 71 100 | 140 | 180
HE& Displacement Vemax cm® |45 71 100 | 140 | 180
i e 7 Max speed Npax  fpm | 1800 | 1800 | 1800 | 1800 | 1800
{Ein n Kl 128 180 252 324
1)o7 EL max
AL Max, flow femisoormm | & | VMM 675 1065 [ 150 [210 | 270
BRI (A p=280bar) TEin Npay = - 38 59.7 84 118 1541
Max. power £ in 1500 vimin e 31 50 70 98 125
F KM (A p=280bar)
Max. torque fEinVomax | Twmx |Nm |200 |317 446 | 624 | 802
HRCCEEED)
Weight(without through drive) m Kg 30 47 69 73 78
SE{KX % : Parameter relations
=] YgoamL® v ¢
Ui Flow Qv = —gw [L/min]
" . _ vo* Ap
IXBNH . Drive Torque T _g—20 = 2 o [Nm]
Y . ~Ten 2w +Te'n g *Ap
X5 I# Drive Power P= 520 = 60000 = 5001, [kW]
vy = R LR [em®] Geometry displacement each rotate N, = BZBME Cubage’s efficiency
Ap = JEZ# [bar] Pressure drop/differential N wn = HUE-IE % Mechanical —Hydraulic efficiency
n = $3# [rpm] Rotary speed n, = &8%% (n,=n, .n . Overall efficiency



HLA10VSO/32 RN TEFHER

Variable Displacement Pump HLA10VSO/32

A, RFEFESM Installation Notes ‘

TERRAE TR, BRI T AL T T FE T
SRS, S AR AR, BT LR EER,
I 2 A T R 2

SINGES 14 55 st A T A S o D HE OB 9
ATHREAFNREE, MERRETHSBRAEREH,
SR RIEMAE LR,

EFETRT, Wbt B AN h AT
BRI THEE. RFREAE b ATREARK, 18
FEEFHBAM (o = 800 mm), EEFHE, MO S B
BN E SIE A HE 0.8 bar LT,

ZEGBHSRUTRO 1 E 12, RERRUBEANE
iRt

EHETHARE (#5if)

ERETHREEWERRAEERTREEBBEING, |
FRAR AL

S SEiH/HEzE

F fEga

S Wi 11

L, L1 Feffit o

SB @R (4#R)

he wn TR BACRBIREE (200 mm)

hate EIMAARIBAHBIEH (100 mm)

hes ain A0 1[5 L b 700 2 BT HEZS T 75 095/ R 8 (25 mm)
B wex BRSO VFIR I 7 (OO mm)

Bain T T B R R 5 R T 2B 6 2 ) £ B /N S

@ HILEAD

EHELHRE
e BT R B R A E A 2 8 T R A A i A R R K i
{ﬁtﬁo
ATHIEMEEEATHS, RECE 6 ZLFE25mm
m—%—gi hESmin o
BFRARSIFBIME E N, e = 800 mm HZEK
6
bes mn 28

e mm
800 mm|
e 200mm | 5 M1
h e 100 mm 1 H
& g 200

L

My
B00 mm

m_Mmqﬁt‘; "
B e 100 mm t

8 g 200 mm

R R




HLA10VSO/32 RIITEFHER

Variable Displacement Pump HLA10VSO/32

Installation notes

General

The axial piston unit must be filled with hydraulic fluid and
air bled during commissioning and operation. This must also
be observed following a longer standstill as the axial piston
unit empty via the hydraulic lines.

The case drain fluid in the case interior must be directed to
the reservoir via the highest case drain port.To achieve favor-
able noise values, decouple all connecting lines using elastic
elements and avoid above-reservoir installation.

In all operating states, the suction line and case drain line
must flow into the reservoir below the minimum fluid level
.The permissible suction height h, is a result of the overall
pressure loss, but may not be greater than h,,, = 800 mm.The
minimum suction pressure at port S must also not fall below
12 psi (0.8 bar) absolute during operation.

Installation position.

See the following examples 1 to 12.Additional installation
positions are available upon request.

Below-reservoir installation (standard)
Below-reservoir installation means the axial piston unit is in-
stalled outside of the reservoir below the minimum fluid level.

S Filling / air bleeding

F Air bleed port

S Suction port

L, L1 Case drain port

SB Baffle (baffle plate)

hewn Minimum necessary immersion depth (200 mm)

hain Minimum necessary spacing to reservoir

base (100 mm)

hes win  Minimum necessary height needed to protect the
axial piston unit from draining (25 mm).

hsm: Maximum permissible suction height (800 mm)

amn  When designing the reservoir, ensure adequate
distance between the suction line and the case
drain line.

@ HILEAD

Above-reservoir installation

Above-reservoir installation means the axial piston unit is
installed above the minimum fluid level of the reservoir.

To prevent the axial piston unit from draining, a height dif-
ference hgg ,;, of at least 25 mm is required in installation
position 6

Observe the maximum permissible suction height h; .. = 800
mm.

Inside-reservoir installation
Inside-reservoir installation means the pump is
installed within the minimum reservoir fluid level.




HLA10VSO/32 R T EFER

Variable Displacement Pump HLA10VSO/32 @ HILEAD

=8 Controller

AR 4R (Static characteristic) | WEJRH (Circuit drawing)

dy P

Ay nax W s -_I E ) -

T 42 10 [ AU 2R 5 e s e
FRE IR, ARG RS
7] FE L E -

The pressure controller serves to
maintain a constant pressure in a
hydraulic system within the control

rSEeey

T

% & x-

\
!
i
|
1
1
1
1
i
|
i
|
1
|
1
]

L 1

range of the pump. The pump
- ; ! +: therefore supplies only the amount
) Setting \range Plbar) weall of hydraulic fluid required by the
Qv nin 35 1 1 280 ! system. Pressure may be steplessly
set at the control valve.
L
FZHIHAE Controller data:
FEHBUE M AR 2 3 L/min WG MEE AP max 3 bar
Control fluid consumption max. approx. 3 L/min Hysteresis and repeatability AP max 3 bar
DRG
dy goizer i
g L S LA
Qv nax W Y 7 1 1EE (1 2y i 5 2% B S5 DRAATE o
': i I WU R X D E R s Wi
| 5 S0
! I P [ ANFEDRGH 1l BT T A o
! ! i | Function and equipment as for
! ! -4 DR.
! | -,—: A pressure relief valve can be
! ': ] connected to port X for remote
= e \ ! | control applications; this is not
IEEYQL—%] ! +I i included in the items supplied
Setting :rangie Plbas Lo with the DRG control.
Qv nin ! 1 2 +
20 280 !
" L
H B Controller data: S .
P 3
BRI AR 4.5 L/nin MErRE LE WEE b

Hysteresis and repeatability AP max 3 bar
DRG #2] IR AS IR ARHE PR 2505 5920 bar
The differential pressure at the DRG-control
spool is set as standard to 20 bar.

Control fluid consumption max. approx. 4.5 L/min

DRF/DRS
(DFR/DFR1)
q , wit{] DRS
‘ 2o 1/
Ay max w ) | [ TR DA, BT A (
N | Ly | L) 0 2T R M3
o SRPON = s g
) ) P o RABEHATHU T A
] — P ey | AIDRS, X-THKH .
B G A s I Function and equipment as for
| ! T In addition to the pressure
! ! ! | control function, the pump flow
S RS 1 | may be varied by means of a
-LE]E(E?I% I: T : differential pressure over an
Setting 'rang | orifice or valvespool,installed in
Ay pin | F Ploar) the service line. The pump flow
35 280 i is equal to the actual required
if flow by the actuator.
P Controller data: The DRS-valve has no
Pl i He i e R #E BEDRF£)3-4. 5L/min, DRSZJ3L/min JEZAP ARMERSE: 14 bar connection between X ond the
Control fluid consumption DRF max.approx.3-4.5 L/min Differential pressure AP standard setting:14 bar tank.

Control fluid consumption DRS max. approx.3 L/min




HLA10VSO/32 RIIBBHER @ HILEAD

Variable Displacement Pump HLA10VSO/32

AS A 2R (Static characteristic) WEJRF (Circuit drawing)
LAXD : ;
FAS R AR H 1/ g5 .
Static curves and torque characteristic SNTE&FD TAETE /7 F ik B8 2 Ik 5
S L gERN HIE, AN B0, ik
A U5 IR OB R IR
280 VAL |L T )i
7 \ \ A \ : In order to achieve a constant
2 ‘ 1 LA9 drive torque with a varying
! I operating pressure, the swivel
200 I LAS angle and with it the output
\'\'l’ i flow of the axial piston pump is
150 \ N LN varied so that the product of
{\,\L Y La7 flow and pressure remains
i N constant. Power control with
100 \\: : T 1A6 pressure cut off.
! ",\"\ 1
| i F\‘L
50 N T T LA5
1 I 1
| H ! 1 N =N
ik Flo -
0 O T~ FE 3/ SR
?’ﬂ%ETorquei ! i i IAEAFh LA 707 ik B4 e Rk 5h
] . AR iz
Tom o Not included HISE, TR AL, Mibs
£ oa ! in supply BRSO R
T AR T
! ! ! ! LA9 In order to achieve a constant
T 4 drive torque with a varying
1 ! LA operating pressure, the swivel
P — N 1A8 angle and with it the output
] LA flow of the axial piston pump is
LW | varied so that the product of
L ‘I - LA7 flow and pressure remains
1 constant. Power control with
f; _i, LA6 pressure cut off,remotely operated.
|
1
/ LA5
it Flow . .
0 —— ) UL/ AR
10 b | AR AR Ik B s
i V| HAE, IR AR, MifiiE
FHIEIE Controller data: ' i ! 4 2 ¢ %)
kel i s , Mok dncluded ! | B S R R
PR I T AERZ) 5.5 L/min in supply ! nod R kel
Control fluid consumption max. approx. 5.5 L/min ! 8 L iR TR TR
\n'.} | I YRR In order to achieve a constant
TR [ EATE (bar) | FH S BN s TR (\m)__Torque T(Nm) for size Pyl | H : Y‘!J,,$L,J drive torque with o varying
Code_|Control begin| 45 71 100 140 180 B SR operating pressure, the swivel
LA5 | to 50 to 42 to 67 to 94 to 132 | to 167 MB = i angle and with it the output
] : ! fl f th ial pist i
LA6 |51 - 90 |[42.1-76 |67.1-120 |94.1-169 |132.1-237167.1-302 +%]j i: v::eg so emzz'omg'ir%u@:m; ®
LA7 | 91 - 160 |76.1-134 |121.1-213|169. 1-299 | 237. 1-418 | 302. 1-540 \ e . 1‘ flow and pressure remains
i constant. Constant flow control
LA8 | 160 - 240 | 134.1-202|213. 1-319 | 299. 1-449  418. 1-629 | 540. 1-810 / +II is possible below the power
1
LA9 | over 240 |over 202 |over 319 |over 449 [over 629 |over 810 curve.
UAThE R R AR S (kW] & 71 /R ShE ) -
Conversion of the torque values in power (kW) : RTE SR TAE R A R ik )18 5 4R zh
il el A, R Z AR, ATk
P= Hmat LkW) o T e b B R R R fE )
N :| 2 T AT, R
1 £ - PN
P= w5  [kW (at 1500 rpm) : JIONEiE.
g 4: In order to achieve a constant
* drive torque with a varying
! operating pressure, the swivel
bl 1= Dizbe Port for 1 angle and with it the output
B TR B Serrice 1 i' flow of the axial piston pump is
S [BEDnle |
L, Ll 7!?47‘&%&@ L:ase drain (L1 plugged) | constant. Constant flow control
X RS Control pressure is possible below the power
MB | Jlit CAEE S Measuring operating pressure L curve,with pressure cut off.




HLA10VSO/32 RIITEFER

Variable Displacement Pump HLA10VSO/32

+. R#%¥i&E# R~ Mounting Dimension

1. ##& 45 R~ ( Unit dimensions,size 45 )

ExampleHLA10VSO45DRF/32R-VPB22U99

187
o 95
~|
g-tc
9|5 =
Qs o
s =N
57 N
155 D
3

I
9

3 4

063
61

= 7/8 P 1UNF-2B

0
#1273
$25.4 0

|

1/ }785
L —
}I I
Ll
91

w 15.5 LIN7/8-14UNF—2B

184

©

b

242 24

Examp1e HLA10VS045DRF/32R-VSB12N00)

FEJ1430° 1585 16/3275 8
Pressure angle 30° 15T 16/32 DP

9 95

\

1/4-20UNC-28

90

0
#125_0,063

|78.5

BEF

M22x1. 5

o
fon
»

45 1a4
224

113.2

@® HILEAD

/T716-20UNF-2B

i

H

N

Valve mounting 1T_6
for counter
clockrise 93.5

129

rotation

#14.
o
S HH-HA -
/ .
o
N
113.2
Valve mounting|
for[ row\rm“ 4 1 6
clockwise 93.5
Réfh  Shaft R
._I £ J130°
16, 158
16/327i g
- o
= Pressure angle 30°
15T
16/32 DP

1/4-20UNC-PB .J
29.5

Usable spline length
TERATAIRRE 38
45.9




HLA10VSO/32 RINEZEHEER
Variable Displacement Pump HLA10VSO/32 @ HILEAD

2. Mg 71 R~F ( Unit dimensions,size 71)

Example HLA10VSO7 1DRF/32R-VPB22U99

MB
9 115 vy

2 —_D -

[ M22x1.5

50 D
60 _[18 LNM22x1. 5

B
277

0
#160_0,063
1

Example HLA10VSO71DRF/32R-VKD72U99)

17 115 1® e b
1/ " 302
A [)
— 2 8
g 3 ' S
og o‘n:T- : & 2 3/8-15UNC-
R' ~ i == doep 20
sl % s
3
5/16-18UNC-28 : |
= /8- 14UNF-28 b
217 | : 1/2-13UNC-28
277 24 " 107.5 } 137.5 deep 22

Example HLA10VSO71DRF/32R-VSB12N00)

FEJ1£A30° 148 12/24745

Pressurc angle 30° 14T 12/24 DP
\ 9 115 d View v
] RHH Shaft R M 0.
i 925
e X
—D 3 1 JEHf30° o ~ 1@
o$ g]: 1 /1 S B 12/24%5 \%ug
2| s+ e f g Pressure angle 30° M10 deep 17
Y =y 14
475 3 5/15'18UNC'@| 12/24 DP 324
5/16-18UNC-28 ! D i — l
- - = | Usable spline|length
e S8 |58 118 e LINQ22x1. 5 T THANKE | 475
217 | 55.4
257




HLA10VSO/32 RHNTEHFER
Variable Displacement Pump HLA10VSO/32 @ H I LEAD

3. #M#& 100 R~t ( Unit dimensions,size 100 )

Example HLA10VSO100DRF/32R-VPB22U99

9 149.5 v
15 L B i
63 (D
2 > B
g A bz M33x2 f; o ¥
3 122 Fi YN Sk
s ﬂjm & &=
|
70 T
i |
80 |20 LN 433x2 s Valve mounting
80 275 b
338 2
Example HLA10VSO100DRF/32R-VKD72U99)
VB N 1/2-13 UNC-2B
AL 149.5 1/ 1/16-12UNF-28 _ B //G1/4” 820 )}A&
— X
15 £ il
B T (
2 ., 22| 7f16-1408d-288S — (g8
S| o
ov?c =7 3 8:5
uN; % H _I i N[l
s | |2 N ﬁl H| s
54 i
Ll f |
61.9 120 . L~ 1/16-12UNF-2B S mv: "M.'f.‘;i"“ 1/2 s
275 i = & 5
= " 118 | 148.3 deep 27 M

Example HLA10VSO100DRF/32R-VSB12N0O)

JEA15430° 1786 12/2475 80
Pressure angle 30° 17T 12/24 DP

\ 9 149.5 B
@ |
A o
| 7{16-14UN}-284&D, ! S|
S %
o9 > 1A M33x2 9
81 b q
e 2135|4 o g
=
61.9 {20 LTN M33x2 S
&0 260
314




HLA10VSO/32 RIITEFHER
Variable Displacement Pump HLA10VSO/32 @ H I LEAD

4. Mg 140 R~t ( Unit dimensions,size 140 )

Example HLALOVSO140DRF/32R-VPB22U99 M14 deep 19
290 1
9 173 o| 18 >
| ]
15 [ S 0 o)
80 — 14
g ________ M33x2 I ﬁ: / q<_\I-ﬁ
cc? e T T ] —= = ?_3 Ql <
S| s || | o =
82 = f
FanY Ea
L (. ; — %
9 [ ki T st g N Yo i
] 215 e 20
355 2 131 | 163.3

Example HLA10VSO140DRF/32R-VKD72U99)
290

12.7 173 i i X
G1/4 $20 7/16-200NF28 1 /2-13 UNC-2B
:/ L — \" )Sq\ deep 19
1.5 +
3 - 65 1/2-13UNC-28 S ]
q o |
gyl = |14 B INVTSTOUST S ) = .
o E 1 = !’ )5
2|3 -
= Lu
| Fan)
1S ! %
75 {24 e —
LNl 1/16-12UNF-2B g ya{ui Tt::\::mk 161.6
18 275 it 00
355 22 rotmtien 131 | 163.3

deep 17

Example HLA10VSO140DRF/32R-VSB12N00)

JEF14430° 1305 8/16%i8E
Pressure angle 30° 13T 8/16 DP

\ 9 173 b
| T —

pu—]
=
- 1{2-13UNE-28 S| ¥ -
e 7= M33x2
=T~ 1 — - — - — - @ B
8% !
= lal 3 -
67 —=:F ] e
75 24 78 LT M33x2 S
275
331.5




HLA10VSO/32 RN TEEHERR
Variable Displacement Pump HLA10VSO/32 @ H I LEAD

5. #1#& 180 R~t ( Unit dimensions,size 180 )

Example HLA10VSO180DRF/32R-VPB22U99 M14 deep 19
300
9 173 B m
TL/3"
= T 7] B He
1.5 3 =
- 80 3 — |
§ _______ M33x2 I B
§ == A
=)
o, 36| m16] =
= =
82 = pa
. | : - g
92 ‘ y 7 LTNM33x2 S .
285
365 22

Example HLA IOVSOI8(§DRF/32R*VKD72U99)

300
12.7 173 o /019
$20.6

775 oo 1/2-13 UNC-28
- : — i N —
— : L HB /3
I I ; + A
§ =2 65 1/2-13UNC-28 > | - =1 =
o c‘n‘f“ """" A 1 5/16-120NF~2B} o= <,
< = = = :
ME b %= \\7J, i
=+
s |32 3 o
7 =] | 2
T~ | | — |§ \() 9/
P =S S ———
75 _p4. | 5/16-12UNF-2B — 161.6
1 285 200
365 2 131 | 17
deep 17
Skl Shaft S
1/2-13UNC-28 JEH15430°
131k
T = 8/16753
> = l
= Pressure angle 30°
}.LI 137
57 8/16 DP
s Y




HLA10VSO/32 RINEEHER
Variable Displacement Pump HLA10VSO/32

J\. &R~ Dimensions through drive

B2 g Flange ISO 3012-2 - BO 2-balt
{EGE% Bl 7+ 8% Coupler for splined shaft to ANSI B92 1a-1996 mn‘lﬂmaDP (BAEJ'FH 1&4“3!)

45 |264 38 155 Iﬂﬂli.ﬁ;‘lﬂhp

71 |288 38 155 M10«x 15; 18 deep
100 [380 38 155 M10x L5; 16 deap
140 [377 38 185  M10«x 1.5; 16 deep
180 | 387 a8 185 M0y 1.5; 16 deap

fha Flange IS0 3019-2 - 100 2-balt

TETR S8 &% Coupler for splined shaft to ANS| 892121908 7/8in 13T 16/32 DP  (SAE 1744 - 22-4 (B))

264 M 165 M12x 1.75; 18 deep

299 41 165 M12x1.75; 18 desp

360 4 185 M12x 1.75; 18 deep

377 4 165 M12x 1.75; 18 deap

180 | 387 41 165 M12x175; 18 d.q:
Thread of all NG at UDD M12 x 1.75; 22 deep

45
(il
100 |
140

L @100338 |

B4 = Flange IS0 3018-2 - 100 2-bolt
{EEH B % Coupler for splined shaft to ANSI B921a-1996 1in 15T 16/32 DP  (SAE J744 - 25-4 (B-B))

1688 M12x 1.75; 18 deep
7 200 459 189 M12x 175 18 deep

&
3
g

459 169 M12x 175 18 deep
458 189 M12x 175; 18 deep
459 168 Mi12x 175 18 deep
Thread of all NG at U00 M12 x 1.75; 22 deap

g
§ 38




HLA10VSO/32 RINTEHER

Variable Displacement Pump HLA10VSO/32

Et Flange IS0 3019-2 - 125 4-bolt
E!ﬁﬂﬁl Coupler for splined shaft fo ANSI B9212-1986 1in 15T 16/32DF  (SAE 1744 - 25-4 (8-8))

45 |264 450 168 Mi2x175; 22 deep

209 458 168 MI2x 175; 15 deep
459 188 MiI2x 175 16 deep
377 450 160 Mi2x 175, 15 deep
180 387 450 168 M12x 175; 22 deep

Thread of all NG at U0O M12 x 1.75; 22 deep

587
g

A2
BA—l A G [fi]) (1o mounting flange face) A1

= Flange SO 3018-2 - 160 4-holt
R (T8 Coupler for splined shaft to ANSI B92.1a-1906 1 1/4in 14T 12/24 DP (SAE J744 - 32-4 (C))

n 208 G554 178 M16 x 2; 20 deep
100 | 360 554 1789 M6 x 2; 20 desp
140 | 377 554 178 M8 x2; 20 deep
180 [387 554 178 Mi6x2; 20 deep

Thread of all NG at UOO M16 x 2; 22 deep

Bs ik
iE

= IS0 3019-2 - 180 4-bolt

Flange
{E M52 Coupler for splined shaft to ANSI B0215-1806 1 1/2in 17T 12/24 DP (SAE 1744 - 38-4 (C-C))

Mﬁ A A A mUse
360 619 204 M16x 2 20 deep
140 | 377 618 204 M8 x 2 20 deep
180 | 387 619 204 M16x 2 20 deep
Thread of all NG at UDO M16 x 2; 22 deep




HLA10VSO/32 RIITEFER

Variable Displacement Pump HLA10VSO/32

B7 Flange ISO 3019-2 - 180 4-balt
(Eﬁlﬁﬁ# Coupler for splined shaft to ANSI 822121006 | 3/4in 13T 8/16 DF  (SAE 1744 - uunn

140 | 377 75 Onrequest M‘lllﬂ:!ﬂthq

180 | 387 76 On equest M16x 2: 20 desp
Thread of all NG at U00 M16 x 2; 22 deep

(= fiio mo

Flange ISO 3018-1 - B2-2 (A)
‘E'”‘ﬁa Coupler for splined shaft to ANSI B92.1a-1996 S5/8n 9T 16/32 DP Mjm 16-4 (A))

45 |264 318 m.a Mwu 15;
16 deep
71 |200 318 193 M10x 1.5;
16 deep
100 | 360 318 Onrequest M10x 15;
16 deep
140 | 377 318 Onrequest M10x 15;
16 deep
180 | 387 318 Onrequest M10x 15
16 deep
(R 2 (1o mounting Range lace) A1

e Flange ISO 3018-1 - B2-2 (A)
-EHRIR (3% Coupler for splined shaft to ANSI B92.1a-1996 3/4in 11T 16/32 DP  (SAE J744 - 19-4 (A-B))

264 38 %«D x 1.5; 16 deep
71 [208 38 175 M10x15; 16 deep
100 (360 38 175  M10x 1.5; 16 deep
140 [377 38 175  M10x 15; 16 deep
180 (387 38 175  M10x 1.5; 16 deep

B~

|£im)ﬁnmﬁmd




HLA10VSO/32 RN TEFER

Variable Displacement Pump HLA10VSO/32

Flange 150 3018-1 - 101-2 (B)
ﬂr:milﬁt Coupler for splined shaft to ANSI B2215-1996 7/8in 13T 16/32 DP  (SAE J744 - m(m’

41 165 u1! x 1.75; 22 deep

264
71 (200 41 165 WM12x 175 22 deep
360 M4 16.6 M12 x 1.75; 18 deep

ar «a 165 M12 x 1.75; 18 deap
180 |387 & 16.65 M12 x 1.75; 18 desp
Thread of all NG at U0O M12 x 1.75; 22 deep

o4 jE Flange ISO 3018-1 - 101-2 (B)
{Et #2788 Coupler for splined shaft to ANSI B92,1a-1896 1in 15T 16/32 DP  (SAE 1744 - 25-4 (B-8)

45 |264 4598 169 M12x 1.75; 22 deep

71 |200 458 169 W12z 1.75; 22 deep
100 | 360 459 169 MI12x 1.75; 18 deap
140 |377 450 169 Mi12x 1.75; 18 deap
180 | 387 4568 169 M12x 1.765; 18 deep

Thread of all NG at UDO M12 x 1.75; 22 deep

(% % 4% 2 ) (to mounting fiange face!

) Flange IS0 3018-1 - 1274 (C)
TEE WM &3 Coupler for splined shaft to ANSI B921a-1098 1 in 16T 16/32 DP - (SAE 1744 - 25-4 (B-B))

;hh Ar A A sUSS

A - M 10x 26(8x) 45 450 160 M12x 1.75; 22 deep

71 |208 459 168 M12x 175; 22 deep

100 |360 459 1868 M12x1.75; 22 deep

140 | 377 458 168 M12x 175; 15 deep

180 | 3687 460 166 MI12x 1.75; 22 deep
Thread of all NG at UDO M12 % 1.76; 22 deep

& L@i&ai

A2
(& 42 453 2 i) (to mounting flange fade] 47




HLA10VSO/32 RINTEHER

Variable Displacement Pump HLA10VSO/32

o

Flange ISO 3018-1 - 127-4 (C)
LRI & 4% Coupler for splined shaft to ANSI B92 11996 1| 1/din 14T 12/24 DP  (SAF 1744 - 32-4 (C))

N1Ox25(8x) L I

1 71 |200 554 179 MI12x 1.75; 22 deep
100 |360 554 179 M12x 1.75; 16 doop
140 |377 554 179 MI12x 1.75; 15 desp
180 | 387 554 179 MI12x 1.75; 22 deep
Thread of all NG at UOO M12 x 1.75; 22 decp

n

A2
(5 A () (To mounting flange face) A1

Flange ISO 3019-1 - 127-2 (C)
mwuen Coupler for splined shaft to ANSI B92.1a-1996 1 1/2in 17T 12/24 DP (SAE J744 - 38-4 (C-C))

Sze|A A A A

LiNawo| 100|360 619 204 Miexz 22 docp
L/ AN 140 [377 619 204 M8 x2; 22 deep
180 [387 619 204 M8 x2; 22 deep

‘:B - 1 0'97';‘232‘

\
%
3
®
g

(£ L HIE 2 1) (to mounting flange T
96 L Flange ISO 3019-1 - 1524 (D)
{EWR % (v 9% Coupler for splined shaft to ANSI B921a-1896 1 1/2in 17T 12/24 DP (SAE J744 - 38-4 (C-C))
M10x25 ‘Size

/NG 100180
- I ?
b ‘

A A A A

100 | 380 619 204 M16x2;22deecp
140 | 377 619 204 M16x2; 22 deep
180 |387 619 204 MI16x2; 22 deep

=
7 o~
\ 2
PR o
N
L A2
oo




HLA10VSO/32 RIIBEHER )
Variable Displacement Pump HLA10VSO/32 - HILEAD

17 Flange 1SO 3019-1 - 152-4 (D)
&ﬂmnnﬂﬁwummmmmmmrms 13/4in 13T 818 DP  (SAE J744 - 44-4 (D)

Sies |A, Ay As A

140 |377 75 Onrequest M1Bx2;
22 deep
180 |387 76 Onrequest MiBx2;
22 deep

A2
(% 4L 2 i) to mounting flange face) At |

4% Combination pumps A10VSO + A10VSO

ERAARKN, ATEESMEEMIIAHE, TERTEIME,
EITMASREN, MEd “+” SHE-RME_RHESKRBLESE—E,
When using combination pumps it is possible to have multiple, mutually independent circuits without the need for a splitter gear-
box.

When ordering combination pumps the model codes for the first and the second pump must be joined by a  “+

”

11857~ Ordering example: A10VSO100DR/32R-VPB22UBS8 + A10VSO71DRF/32R-VSB12N00
ARIFHIZLE Permissible overhang moment

FEABANRRTHELERAS (WEER ), £E 10298.1 m/s’) FREBME S, TEFSMIZIELE

It is permissible to use a combination of two single pumps of the same size (Tandempump), considering a mass acceleration force
of 10g (10x9.81 m/s2) without an additional support bracket.

1he size 45 n 100 140 180
LVFII%E  Permissible overhang moment
4 static Tw Nm 1370 3000 4500 4500 4500
)3 dynamic at 10 g (081 m/e?) T Nm 137 300 450 450 450
I Weight m kg ap 47 B9 73 78
8.1 Distance tocentreofgravity | mm | 130 142 189 172 198
| 1 mymsms S E Weight of pumps Ikg]
S hiah B Distance centre of graviy (]
L i | ]
R A To=(my»ly + my-ly+mgelg - —Ml
# L 102
Iy




HLA10VSO/32 RINTEHER

Variable Displacement Pump HLA10VSO/32




HLA10VSO/31 RITEFER

Variable Displacement Pump HLA10VSO/31

H % Contents

1. BUS VR Ordering Code . ossssssassissssssssssssssissmsssnissess 24
2. Z5#3M Construction .26
3. & Hydraulic fluid ... .26

4, WAHHEE PR #I38 Mechanical displacement limiter.......... 27

5. EES Parameter " o]
6. RIEFEEDN Installation NOES ......rvvverrvvrerrrrnrrirnennns 28
7. RIEERE R T Mounting Dimension ............ccoceeereeeneene 30
8. #1773 Controller 38
9. iE%H Through drive 39

4% & Features

B ATAXERNBEXEEEER, |
Swash plate design axial variable piston pump used in open

circuit.

B ESTEES AL 280bar, BRRTHE TIEEA AL 350bar, |
Continuous work pressure can reach 280bar, The highest
instantaneous work pressure can reach 350bar.

|
B RERIELL FIREERMEEE, HBLETHEHARERT
RES,
The flow is directly proportional to the drive rotate speed and u
the displacement, and can make stepless variable come true by
adjusting the obliquity of the swash plate. .

B AiEE. EWREE. EEEREZSMEHAR, BiEH
Mo 8z 32 FE 1R o
Wide range of controls such as DR,DFR,DFLR etc. Short u
response times.

@® HILEAD

& Size 18~140

#51 series 31

#A%E £ 1 Nominal pressure 280bar
1 JE 77 Peak pressure 350bar

X EAEZER Swash plate design axial

variable piston pump

RIRE. BEE. BURENE. KFEG.
Low noises level, High efficiency, High reliability and long time
service life.

RN, DEBER.

Small volume, High power density.

R EI IR ERE

Excellent oil absorbency.

IR B AE R ) 012 0 F 3

Axial and radial loading of drive shaft possible.

SAE R ISO &%,
SAE and ISO mounting flange.

WAL, BTSEERS.

Thru drive option for multi- circuit system.



HLA10VSO/31 RIITEHER P,
Variable Displacement Pump HLA10VSO/31 @ HILEAD

RIS B8 Ordering Code ‘

HLAIOV(S) | O |28(DR| / |31|R|—| P| S| C|62|NO0
| | L l— B - WETT Next page
RS BER; fHEREN MR
Port for service lines 18 28 45 71 100 140
Model  Variable pump,Swashplate design
- 11— [SE SAE, A4
HUEEF) 280bar SAE flage rear, VI VIV ]|V
Rated pressure 280bar fixing thread metric
61— [ SAE,UNC #8247
IE{EJE 51 350bar SAE flage rear, VIVIVIV
fixing thread UNC
Peak pressure 350bar —— AR
12== I| SAE, 2243
SAE flage on opposite VIVIVIV| V]V
I side,fixing thread metric
ﬁﬁﬁﬂ R ’ FE 62— Al SAE, UNC 241 S | ag 5
3 w SAE flage on opposite VvV
Mode of operation  Pump,open circuit side fixing thread UNC
41(91)— [T SAE, %] (UNC) 8840
[ EAE ﬁ:;]ge rear, v
ing thread ic(UNC
HIAEHER 118, 28, 45, 71, 100, 140(ml/r) xing tareadmetic(UNG)
X 42(92)— 7B SAE, 2] (UNC) 884
Displacement 18.28.45.71.100.140(ml/r) AR fHiage ‘on'iopposite Vv
side,fixing thread metric(UNC)
[
. L REER=:
R Mounting flange
Controller 18 28 45 71 100 140 18 28 45 71 100 140
DG— Az A-ISO F7L
Two point.direct control 1SO 2-hole VIVIVIV]V
DR— 1B EHEH] CsEmi v VvV
Pressure control il el ikl sl SAE 2-hole
DRG— LA {EE 2] B v
Remote pressure control Vv VIVvV ISO 4-hole
DFR-- [£1 / &I D-SAE 7L
Pressure and flow control VIVIVIVIVIV SAE 4-hole
DFRI-- 71 / REHEH, X OXH pm .
Pressure and flow control VAl EVA VA IV IV A V4 L fhimAs
Orifice in X-channel closed Shaft end 18 28 45 71 100 140
DFLR— £ / i@ / ThaiRH|
Pressure,flow,torque control VIVIVIVIV P 242 Vv Vi iviv| v
Metric parallel with key
S-SAE e VI iVIVIVIVIV
| SAE splined
o . 5
FEERERT . 31 F5 R-SAE 1E4% (Rl JAIRENA4E )
Series 31 Series SAE splined VI iV V|V
(higher through drive torque)
K--SAE 4
| SAE parallel with key v ¥ Vv Vv
st (NIRRT ) - R— Rt clockwise U—SAE /IiE8e
" ; : . 2 alockewi SAE splined.reduced dian, % v v
Direction of Rotation L— iiRt4t anti-clockwise siot for throush drtve
W-SAE/NESE (BE @ IR shH4E )
Similar to shaft "U", higher input Vv v
torque, not for through drive

|
FEF: P— THBE  Perbunan

Seals V—SMBE  Viton



HLA10VSO/31 RAITBHER @ HILEAD

Variable Displacement Pump HLA10VSO/31

s e v s o B2 4 T 10 10
TR, e [ v]v]v]v]v ] Vv]mw
R W/ WE ATR%E
Mounting flage Shaft/coupling For the mounting of
1SO 80,2 hole 3/4" 19-4(SAE A-B) HLAIOVSO10-18(shaft S or R) v v v . V| KB2
1SO 100,2 hole 78" 22-4(SAE B) HLA10VSO28(shaft S or R) v v v Vv V| KB3
1SO 100,2 hole 1™ 25-4(SAE B-B) HLA10VSO45(shaft S or R) v Vv A 74 KB4
1SO 125,2 hole 1 1/4"  32-4(SAE-C) HLA10VSO71(shaft S or R) v Vv vV | KBS
I1SO 125,2 hole 112" 38-4(SAE C-C) HLAIOVSO100(shaft S) v V' | KB6
1SO 180,4 hole 13/4"  44-4(SAE D) HLAIOVSO140(shaft S) Vv | KB7
SAE 82-2,2 hole 5/8" 16-4(SAE A) HLAL0VSO10-18(shaft U),1PF2G2,PGF2 4 Vv Lz \ . 4 Vo | Kol
SAE 82-2, 2 hole 3/4" 19-4(SAE A-B) HLAIOVSO10-18(shaft S or R) ' v v v A% v | Ks2
SAE 101-2, 2 hole 78" 22-4(SAE B) 1PF2G3 Y V|V Vol V| ke
SAE 101-2, 2 hole 7/8" 22-4(SAE B) HLAIOVSO28(shaft S or R),PGF3 v v v v v | ke
SAE 101-2, 2 hole " 25-4(SAE B-B) HLAIOVSO45(shaft S or R),PGH4 vl v Vo V| Ko4
SAE 127-2, 2 hole 11/4"  32-4(SAE C) HLA10VSO71(shaft S or R) \4 ¥ Vv | Ko7
SAE 127-2,2 hole 112" 38-4SAE C-C) HLA10VSO100(shaft S ),PGHS Vv V| K24
SAE 152-4,4 hole 13/4"  44-4(SAE D) HLAIOVSO140(shaft S ) Vo] K17
ISO 80-2 Key shaft ® 18 HLA10VSO18( Shaft P) EV4 v vV vV W vV K51
SAEA 8222 Key shaft ®19.05 HLA10VSOI18( Shaft K) v v Vv Vv v V| K40
1SO 100-2 Key shaft ®22 HLA10VSO28( Shaft P) v | v v v v | K25
SAEB 101-2 Key shaft ©22.225 HLA10VSO028( Shaft K) v | Vv v v Vv | K03
ISO 100-2 Key shaft ®25 HLAJ10VSO45( Shaft P) v v v V| K26
SAEB 101-2 Key shaft ®25.4 HLA10VSO45( Shaft K) V4 vV v VvV | Kos
1SO 125-2 Key shaft ®32 HLAI0VSO71( Shaft P) v v Vv | K27
SAEB 127-2 Key shaft ®31.75 HLA10VSO71( Shaft K) 4 v V| K08
ISO 1252 Key shaft ®40 HLA10VSO100( Shaft P) % Vo K37
SAEC 127-2 Key shaft ®38.1 HLAIOVSO100( Shaft K) v V| K38
1SO 180-4 Key shaft ®45 HLA10VSO140( Shaft P) V| K59
SAEB 152-4 Key shaft ®44.45 HLAI0VSO140( Shaft K) V| K2l




HLA10VSO/31 R TEFER

Variable Displacement Pump HLA10VSO/31

RN OEEA S8 SRES WiE E=o ]
BALL GUEDE  RETAINER  SWASH  vARIABLE  BAVREL  VALVE CONTROL
PLATE PATE  prsTon WLV

%

WUSING

Hydraulic fluid

o EATT WM.
TheHLAIOVSO variable displacement pump is suitable for use with
mineral oil.

o T{Ef5EIEE Operating viscosity range

AT BERENNENES, RIEFIRHRNITIEME (F
HEMITERET) EEEUTEER

In order to obtain optimum efficiency and service life ,we recom-
mend that the operating viscosity(at operating temperature) be se-
lected from within the range.

Vopt= £ TAEF5EE opt. operating viscosity

16++:36 mm’/s

S5mfERE (FmE) HExX.

Referred to the reservoir temperature(open circuit).

o GHESEEIRIPRE! Viscosity limits

Vmin=10mm?/s ERFEIZE 90°CiHiB MM AR R T mARE
short term at a max. permissible drain of 90°C .

Vmax=1000mm?/s ¥ZAF[E4#EENAT short term on cold start

o BESEEl Temperature range (see selection diagram):t=—25 ~
90°C

HILEAD

-20°  0°  20° 40° 60° 80° 100°
1000 +———* 1000
600 o
400
E 200
£ R
~ 2100
>7Z 80 —
22 60 \
ES 40 AY ANAWAY -
| -
—H &
20 — =
15 =a=== r16
b . N
W +——— 10
-25° -10°  10° 30° 50° 70° 90° @AEME(T)

Temperature
|

[ o1 7 3 9% B
™ (Fluid temperature range) |

o EFMIAAYEEE Notes on the selection of the hydraulic
fluid.

AT EfMERRER, LAMEBFEFRRIERE (FR
[E19% ) FIMEREREZR. In order to select the correct fluid | it is
necessary to know the operating temperature in the tank (open loop)
in relation to the ambient temperature. RIBEFAEIR, NIHRE
RN TERESEEN, MRMEERERMNETERE (Vopt
BAZSSEE) , HEWERMTIEANTRSERFRATGEERS
FEZFR . The hydraulic fluid should be selected so that within the
operating temperature range, the operating viscosity lies within the
optimum range (Vopt) (see shaded section of the selection diagram).
We recommend that the higher viscosity range should be chosen in
each case.

o HIERYITIE Filtration

IEHEE, TIERENEEEMLE, NRNEGEK. AT
RIEFFERTHRESINGE, RRIETEZED R NAS 1638
9 2%, I1SO/DIS4406 #Y 18/15 K.

The finer the filtration the better the cleanliness of the pressure fluid
and the longer the life of the axial piston unit.To ensure the function-
ing of the axial piston unit a minimum cleanliness level of: 9 to NAS
1638 18/15 to ISO/DIS 4406 is necessary.



HLA10VSO/31 RFIZEHFER x
Variable Displacement Pump HLA10VSO/31 @ HILEAD

HimHEZ PR %188 Mechanical displacement limiter |

HUAHEE PR 5 23X AL A F BRI NOO RIIR, BEHRMAFHEA,

Mechanical displacement limiter is possible on the nonthrough-drive model, NOO series but not for the model with through-drive.
Vgmax : FFH4E 18~140; for sizes 18 to 140

B ESEEM Ve max B 50% Vg max, FTHEEHL;  Setting range Vg max to 50% Vg max stepless

Vg min: AT 100, 140; for sizes 100 and 140

& ESEEM Vg min B 50% Vg max, FZkIE{L; Setting range Vg min to 50% Vg max stepless

B, EESH Parameter g

#HMOTEEEE Hil A TEEEE

Operating pressure range - inlet Operating pressure range - outlet
im0 (S A) WastED HimO (B MA) £ Pressure at port B
Absolute pressure at port S NFRIE 77 Nominal pressure Py------------ 280 bar
P mig=—==-----——------0.8 bar &£ 77 Peak pressure P, ----mmmmmnm-- 350 bar

BB TAEES (&5 10% BB ——315 bar

Applications with intermittent operating pressures up to 315 bar at

P

abs max’

10% duty are permissible.

Foficitt i £ /1 Case drain pressure
MmO (L, L) BARKFES: &&ALL#BOEAS 0.5bar, BTGFET 2bar BEXTET.
Maximum permissible pressure of leakage fluid (at port L, L,):Maximum 0,5 bar higher than the inlet pressure at port S, but nohigher than 2 bar

absolute.
##% Sizes 18 28 45 71 100 140
HEE Displacement Ve cm’ 18 28 45 7 100 a6
RiSFEIE Max speed iz pm 3300 3000 2600 2200 2000 1800
A E Max. flow ik q 59.4 84 117 156 200 252
4 . " " v L/min
F£ in 1500 r/min 97 42 68 107 150 210
SAINE (Ap=280bar) | 7 N N " 277 39 55 7 %3 18
Max. power 7E in 1500 r/min " e 126 20 32 50 70 98
FAH%E (A p=280bar) :
Mar s FEinV, na Tmax Nm 80.1 125 200 316 445 623
E & Weight m Kg 12 15 21 33 45 60

S¥E R Parameter relations

V,°n®n
RE Flow q~= o ! i
OLEE v
1000 [ L/min]
. . 159 ° V, *Ap Ve *Ap
RENEERE Drive Torque - e -
) * 100°n,, 20° T N, [Nm]
Te omeT KN
IRENTHZR Drive Power p= 3 _ i o a.*Ap (kW]
9349 60000 600° 7,
V, = G4 JLaMHE [cm’] Geometry displacement each rotate n, = BEME Cubage’ s efficiency
Ap = EZ [bar] Pressure drop/differential M= HUH - BEZE Mechanical-Hydraulic efficiency
n = §%i® [rpm] Rotary speed n.= &B¥E (nzn, X0, Overall efficiency



HLA10VSO/31 RINTEHFER

Variable Displacement Pump HLA10VSO/31

A RERESEMW

B 160L/min KM ERSRAEIREERBELE, UTH
RAURETHEL, BEEHRBESERBHRE. 5EHN
B HERIEEE (ROE. BEE) < 0.05mm, FEXIBITH,
RALFEHBRIFETERRELR, A TRIERS, B8
REMA SN, BUAEHRRARTE FMERE, #HinE
BARRIFRIERM, BWRGERA MBS RSEERERTIE,

1. BEERE (H#mmaL)
1.1 RETFiHER
RIAIEE BRI EEL FREMAE,
a) HMANRRAE RS TRETREE=MN, ¥ "L #k,
T L7 MmO “S” T, EiURE 1 BRE,

b) IR AR RER T ROZIEZE, N FAMHO “L”,
il E “L” R#EHO “S” mE2mE, #S5H1.21 7,

1.2 REEMMAEINE
EREREBFRKFABEHEHBR, WRETHENLE
7, BRE 2,
1.2.1 EEFSMHEFER TROSRBBEEH
Pmin=0.8bar,

Dgroiss

S\

¥ | & &

hlmln hmax
. iﬁ

— iR

& 2

1.2.2 M7 ERERRAWHOSE h,,=500mm; ALK H
ERMENMETE. EIRKEXN, aaEREE),
g5t O B i /NVRIRE D,y =200mm,

@® HILEAD

2, RERSE (HIRKTE)

KEREMEMBFEMHO L7 3 “L” ATFIE.

2.1 REFEMAEN

a) HHANRRREERTUGZ LR, BH@O “L” #E,
il O L7 . BERA “S” RESLE 3,

]

s zvoge
L j_ gm"'“

L, Ps

3
b) L A RMEER FRAOMME, HitmO “L” &
fF, im0 ‘LY | #EO ‘S MREERSLEL, EE
h,,;,=200mm, h,,,=500mm,

2.2 RETEHMAEINE

BT T EA RO L 5 L, BE, FRAE AR,
a) REMMAEL, MmO “L” R#EHO “S” BREES
E 4,

=

,_
E
=

Ih|m hmm

& 4
b) MREFEAMAT, MmO “L)” R#EHO “S” BE
BEEIE 5,

W

pnts—P% —.
L,\[ || (

s




HLA10VSO/31 RITEFER

Variable Displacement Pump HLA10VSO/31

Installation Notes

Optional installation position. The pump housing must be
filled with fluid during commissioning and remain full when
operating. In order to attain the lowest noise level, all
connections (suction,pressure, case drain ports) must be
linked by flexible couplings to tank.

Avoid placing a check valve in the case drain line.

1. Vertical installation (shaft end upwards)

The following installation conditions must be taken into
account:

1.1. Arrangement in the reservoir

Before installation fill pump housing, keeping it in a
horizontal position.

a) If the minimum fluid level is equal to or above the pump
mounting face close port “L”plugged, leave ports”L," and “S”
open; L, piped and recommendation S piped (see Fig.1).

b) If the minimum fluid level is below the pump mounting
face pipe port “L,” and “S” according to Fig. 2.

Close port “L” with respect taking into consideration

B/L

1.2. Arrangement outside the reservoir

Before installation fill the pump housing, keeping it in a hori-
zontal position. For mounting above reservoir see Fig. 2.
Limiting condition:

1.2.1. Minimum pump inlet pressure p,p, i, = 0.8 bar under
both static and dynamic conditions.

Note: Avoid mounting above reservoir wherever possible in
order to achieve a low noise level.

The permissible suction height h comes from the overall pres-
sure loss, but may not be bigger than h,,,, = 500 mm (immer-
sion depth h, ;, =200 mm).

Fig. 1

@ HILEAD

Overall pressure loss
A pe= A pl+ A p2+ A p3 < (1-P g in)=0.2bar
A pl: Pressure loss in pipe due to accelerating column of fluid
A pl=p X 1X (dv/dt) 10°(bar) p =density(kg/m’)
1=pipe lenght(m)
dv/dt = rate of change in fluid velocity (m/s”)
A p2=Pressure loss due to static head
A p2=hX p XgX10°(bar) h=height(m)
p =density(kg/m’)
g = gravity = 9.81 m/s’
A p3: Line losses (elbows etc.)
2. Horizontal installation
The pump must be installed, so that "L" or "L," is at the top.
2.1. Arrangement in the reservoir
a) If the minimum fluid level is above the top of the pump,
port "L," closed, "L" and "S" should remain open, L piped and
recommendation S piped (see Fig. 3)
b) If the minimum fluid level is equal to or below the top of the
pump, pipe ports "L" and possibly "S" as Fig. 4.; close port "L,".
The conditions according to item 1.2.1.
Fluid

min.200mm
L /
” \v/

1mn

Fig. 3

2.2. Installation outside the reservoir

Fill the pump housing before commissioning.
Pipe ports "S" and the higher port "L" or "L,".

a) When mounting above the reservoir, see Fig. 4.
Conditions according to 1.2.1.

=H "

P Fluid 2

=
£
=

Fig. 4

Baffle —} Y

b) Mounting below the reservoir
Pipe ports "L," and"S" according to Fig.5, close port “L”".

Fluid
£
Baffle e L
LY Fig. 5
‘18,
] g
= E..-




HLA10VSO/31 RIIZEHFER
Variable Displacement Pump HLA10VSO/31 @ HILEAD

% 3£5%&# R~ Mounting Dimension

1. ¥t 18-140 R~F & (Size 18 to 140)

View Z (HLAIOVO18+ 28+ 45+ 71)

PINSAE 1
Ports at
opposite sides

B20 v B10
B2 B5 | TS0 2-hole B18
H [l 1
AN, )
o
= | Ex L A NO 250
" ) ? S =
View W il 7 T [ N 3 =
AT = 3 ——=- - H— - = E
{ ] Al ;
49 T \eas ) 7 : "
o L{SLA & s X
= 7 Bl = 2 $B10
/./ & - N | TSAE 2-hote
‘.) Bl - L1 H H
Bl4 B8 W | ®A3
B3 Bl B13
View V HallE View v
(HLAIOVO18, 28, 45, 100, 140) (HLAIOV071)
$ A6 A8 $ A6 AA8 View Z (HLAIOV0100) View Z (HLAIOVO0140)
5\ A D\ &\ A8 +
| ey /;‘ BI8 $B10 A3
= i) = 1) L " B18
= | =e N le = N
S @ f A é DK §
§ % o ©
BI6 |BL6 | b= @ o
BB16 a\: % 2\ el 5 il N
N
=5
A

&5

B13

View Z (HLAIOVO18+ 28+ 45+ 71)

—B18 B20
A8 B2 B5 TS0 2-hole
-g» £ 3 b=
q I o
> | ]
L I N 1 —
il ! — ®B10
B7 = — SAE 2-hoTe
B4 L
B8
5 B
Pressure Port il 3 Bl
(HLALIOV071)
AB b A6

View Z (HLAIOV0100)

J& TISAE 1+

Ports at rear

MNLL

<




HLA10VSO/31 RIIEBHER @ HILEAD

Variable Displacement Pump HLA10VSO/31

RRE=Z—MEXRRT:

Dimensions-Mounting flange

H2 RIKRZ AB) 1SO 2(4)-hole RIEKZL C(D) SAE2(4)-hole

Soo i e B2[ BIO | Ll | Al A3 B2 B10 T) A || A ||a
18 80h8 109 7 11| MI6X1.5 | 82.55h8 106.4 6.3 11 9/16-18UNF 134 25 | 20
28 100h8 140 9 14 MI8X1.5 | 101.6h8 146 9.5 o 14 3/4-16UNF 174 32 20
45 100h8 140 9 | 14 | M22X15 | 101.6h8 146 9.5 14 7/8-14UNF 174 40 | 25
71 125h8 180 9| 18 | M22X15| 127h8 181 12.7 18 7/8-14UNF 210 50 | 25
100 | 125h8 180 9| 175 | M27x2 | 127h8 181 12.7 17.5 1 1/16-12UNF 210 60 | 32
140 | 180h8 | 1584X1584 | 9 | ®18 | M27X2 | 152.4h8 | 1616X161.6 1257 20 1 1/16-12UNF | 200X200 | 63 | 32

mAR—RX R~
Dimensions-Ports for service lines
HeE | A1 SAE ;O (Ports at opposite sides) J&T SAE ;[0 (Ports at rear) 2N (UNC) #2471 Metric(UNC) threads
Size Bl B8 B9 | BI18 | B19 | B20 | B1 | B8 | B9 | B18 [B19| B20 A7 A8 AAS8
18 195 145 63 109 40 130 M10(3/8-16UNC) M10(3/8-16UNC)

28 206 164 80 | 119 40 140 | 225 (17045 | 73 43 [ 209 | M10(7/16-14UNC) | M10(3/8-16UNC)

45 224 | 184 90 | 129 40 155 | 244 | 18950 |81.5 | 40 [ 228 | MI2(1/2-13UNC) | MI10(3/8-16UNC)

71 259 | 217 | 104 | 143 40 183 | 278|223 |58 [91.5 | 40 | 262 | MI2(1/2-13UNC) | M10(3/8-16UNC) | M10(7/16-14UNC)

100 329 | 275 | 100 | 148 40 | 250 | 344 [288|55 | 99 |40 |327 | MI2(1/2-13UNC) | M14(1/2-13UNC)

140 | 337.5 | 275 110 | 183 27 222 | 379 (293|60 | 140 | 27 353 | MI12(1/2-13UNC) M14(1/2-13UNC)

EYiT) >

im B X —HE X R~

Dimensions-shaft end

HE A2 B3| B7 A2 |B3|B7 A2 B3| B A2 B3 | B7
Size |U . S

18| | ©15875(1652DPIT) 318[238 |ul 018(fkey6x25) | 36|28 A |_@1905016520P:0T) | 38 | 30 5'; ©19.05( keyd 76X28.6) | 41 | 33
28 g S| 00 (fkey6x3) [46]36 laal ©22225(1652DP13T) [ 41 [33.1] | 022225 (fkey635x28.6)| 413 | 333
45 |S| ©22225(16/32DP;13T) | 41 33.1 : 025 (§ key8X36) |52]42 [S| ©254(16/32DP;15T)  |45.9| 38 | S| 0254(§ key6.35X34.9) | 45.9 | 38.1
71 : £1 032(8 keylox4s) [ 60| 50 '; ©31.75(12/24DP;14T)  |55.4 | 47.5 2 03175 (2 key7.94X41.3) | 554 | 475
100 | p| ©31.75(12/24DP;14T) [55.4[47.5 | t | 040(§ keyl2x69)|80[70 | ¢| ©38.1(1224DP17T)  [61.9] 54 | ¢ @381 (§key9s2x52.1) | 61.9 | 54
140 |t 045 (B keyldx80)[92]82 [t| ©44.458/16DP;I3T) | 75 | 67 | t| 044d5(HkeylllIx6s) | 75 | 67

BAR:

Dimensions

?;Fi B4 | BS | B6 | BIl | B2 | BI3 | B14 | BIs | BI6 | BI7 [BBI6 | BBI7 X B S
12€
18 | 43 | 83 | 15| 67 64 | 152 | 262 | 524 | 222 | 476 7/16-20UNF | 3/4” 17
28 | 40 | 90 | 13 74 75 | 164 | 302 | 587 | 222 | 476 7/1620UNF |  3/4” 11/4”
45 | 45 | 96 | 13 83 | 805 | 184 | 357 | 699 | 262 | 524 7/16-20UNF 1” 1172
71 | s3 | us | 17 98 92 [ 210 | 429 | 77.8 | 302 | 58.7 | 524 | 262 | 7/16-20UNF 1” o4
100 | 95 | 175 | 20 106 95 | 236 | 508 | 889 | 31.8 | 66.7 7/16-20UNF | 11/4” 212"
140 | 78 | 173 | 21 | 1185 | 108 | 262 | 508 | 889 | 31.8 | 66.7 MI4X 1.5 11/4” 212"




HLA10VSO/31 RIEEHER
Variable Displacement Pump HLA10VSO/31 @ HILEAD

2. #M1& 18 R~F (Unit dimensions,size 18)

ISO %= Flange ISO
P %h Shaft P (HLA10VSO 18 XXX/31X-PPA12N00)

47.6
H

25
e =i

I.
e
2

M10 deep 17

-
A4

g3
7 3=

i

52.4
I

36 )18 =

8 || M16x1.5
145

26.2 M10 deep 17

195

WU B PR B8R

mech.displacement limiter

SAE %= Flange SAE
K%l Shaft K (HLA10VSO 18 XXX/31X-PKC62N00)

View V
v 22.2
3 8 9/16-J8UNF-2B !
\/ 20¥ |
7 ‘74_ L SN 2
b A
28.6 + 74
16 o - | View W deep 20
3|13 0 2 &
1/4-20UNC-28) I T o 15
IR K = ' BT
43 L1 9/16-18UNF-2EW O+
145 106.4 \3/8-16UNC-28
195 152 262 |
deep 20
Uk ShaftUu SHy ShaftS R#% ShaftR
[ EHA 30° 1/4-2008¢-28 JEH A 30° 1/4-2008c-28] JE A48 30°
9 th 11145 1115
. L 16/32 T5iE 16/32 i i | 16/32 T iE
s8 || Pressure angle 30° Pressure angle 30° Pressure angle 30°
s8] oT 1T 1"T
31.8 16/32 DP | 16/32 DP - 16/32 DP




HLA10VSO/31 RINTEHER

Variable Displacement Pump HLA10VSO/31

@ HILEAD

3. #1#& 28 R~t ( Unit dimensions,size 28 )

ISO 7= Flange ISO
P %h Shaft P (HLA10VSO 28 XXX/31X-PPA12N00)

Vv View V
—_ ! 2.2
7 D i f n20¢_ é
M18x1. @_ a 5 A\
) OTR/
- — &= I e M10 deep 17
sl s 11— View W
T ‘15.| g _,_¢.
3 D —E an o = T'H
% |1 [ iﬂ o) }
o |L1 M18x1.5 M10 deep 17
164 W 302
206
\ YA BE R R $125
SAE s Flange SAE mech.displacement limiter
5=
K % Shaft K (HLA10VSO 28 XXX/31X-PKC62N00)
Viewn\/z
05 1 Al:_jq}\
7/ L 9 U | %RR\
emooz || B/4-16UNF-2 5 } 7
2,5 28.6 TV
< g = + a/e-tamc-29
§ SR View W  deep 18
o | o
/ e
4.3 _[13] [ o-Ld
» 3/4-16UNF-2B X7 /16-140Nc-28
164 302
206 =—"=1 deep 24
S#Hy ShaftS R# ShaftR
s EANA 30° . EAHA 30°
1/4-200NC-28 13 8§ 1/4-200NC-28 5 13 8§
o 8 16/32 F B . 16/32 F BB
N =l 3
6] | 1 Pressure angle 30° e | | Pressure angle 30°
» 137 e 13T
w1 H 16/32 DP T H 16/32 DP
o 4




HLA10VSO/31 RIITEFER
Variable Displacement Pump HLA10VSO/31 @ HILEAD

4. ##& 45 R~t ( Unit dimensions,size 45 )

ISO %= Flange ISO
P %l Shaft P (HLAIOVSO 45 XXX/31X-PPA12N00)

View V
JV 262
N % | DL
7L_— [ 1 i | ):f l 55" ;';
M22x1.l5:é9>_ o ‘w“>l N
3 —] T
] Sl - M10 deep 17
gl g s H View W
iz T3RA
42 —/—E = - (\
5 [13] = [ i il I -G )
5 |L1 M22x1.5 1 M12 deep 20
184 W 184 357
224 : 93.5
\ AR EE R R 525
mech.displacement limiter
SAE %= Flange SAE
K % Shaft K (HLA10VSO 45 XXX/31X—PKC62N00)
V View V
L P ‘ o5 V\
L(ES | TR
Pa— 7/8-14UNF-2I§@ 5 “’l N
o = o o \a/8-16unc-28
é & E View W deep 18
18] + 0+ ﬁ*¢\
~ 1840
38.1 —/—H 8| ;{ \QL
59 13— ] i ll DG )
5 7/8-14UNF-2B \ 1/2-13UNC-28
184 — W 357 _| deep 22
U# ShaftU S#H ShaftS R# ShaftR
. EAA30° n EAA30° n EHhA30°
1/4-20UNC-28 13 8§ 1/4-20UNC-28 15 4 1/4-200nc-28 15 8§
.w - 16/32 T 3B . - 16/32 T18E 16/32 F5 8B
SE 5| 15 — S
P s Pressure angle 30° 16| [I] Pressure angle 30° 6 | Pressure angle 30°
e[| [ 13T ® 15T =l [l
5.4 || | 16/32 DP " ] | 16/32 DP S T W 16/32 DP
4 459 459




HLA10VSO/31 RINTEHER

Variable Displacement Pump HLA10VSO/31

5. #4& 71 R~ ( Unit dimensions,size 71 )

ISO 7= Flange ISO
P % Shaft P (HLA1OVSO 71 XXX/31X—PPA12N00)

9 115 lv
§ |
L(ED)- | )jt
> B
5
+ |+
'FE == 1=
3= =
Tz SEl
= _/4E i
60 _[17] j
% | L1 M22x1.5
A 217 W
259 1075 |

\ HARBEE R HIER

mech.displacement limiter

SAE %= Flange SAE
Kl Shaft K (HLA1OVSO 71 XXX/31X—PKC62N00)

\
2 115 |
=TT
P
5/16-18UNC] 2{/8%%3} —‘ !
03
y =G - +F¥:<
SEE -?—
£ e
- :

104

554 _[17] /4|E [ | i ﬂ

53 |Lt 7/8-14-UNF-2B

217 W
259 107.5
SH ShaftS R#% ShaftR
1 EHA30° 1 EHA30°
5/16-18UNC-28 14 ﬁ_ 5/16-18UNC-28 14 ﬁ
¥ - 12/24 3R 4 12/24 555
s | [[f] Pressure angle 30° 19 | Pressure angle 30°
) 147 e 147
475 || 12/24 DP e I TR 12/24 DP
5.4 MY

@ HILEAD

M10 deep 17

)

71.8

12 deep 20
029
View V
3021 3/s-16uc-28
AW $ deep 20
19"
‘ éf& 5
574N 7/16-14UNC-28
View W deep 25

50T q}
S

\.\ A )
1/2-13UNC-28
28| deep 22



HLA10VSO/31 RINTEEFHER

Variable Displacement Pump HLA10VSO/31 @ HILEAD

6. M1 100 R~} ( Unit dimensions,size 100 )

ISO %= Flange ISO
P %l Shaft P (HLA10VSO 100 XXX/31X-PPA12N00)

\%
|
|
|| -
Im = i
g it L;: N LAY ;
= +i+ P: N Jlé
o= N
= ?R
Iam) =%
IW 118
SAE &= Flange SAE .
K% Shaft K (HLA10VSO 100 XXX/31X-PKC62N00) View V
®
lV 832 L\ g
124 175 ; ('P\"
[atig] \1/2-13 unc-28

|

|
58S |,
1/16-12UNF=28[| | ] g

1552 View W deep 19
=R = TR s ==
% Jissia f )
7/16{14UNC-28 L 8 P EE 2 PR FI2F
54 ] YL mech. displacement
61.9 limiter
L1 1 1/16-12UNF-2B
275 W
== Min.
S# ShaftS U#Hy ShaftU W % Shaft W
7/16-14UNC-2B 5/16-18UNC-28B 5/16-18UNC-2B
EAf 30° EXA30°
17 i 14 15
-ilz 12/24 588 12/24 58
Pressure angle 30° Pressure angle 30°
17T 14T
12/24 DP 12/24 DP




HLA10VSO/31 RIITEHER

Variable Displacement Pump HLA10VSO/31

7. ##& 140 R~} ( Unit dimensions,size 140 )

ISO 7= Flange ISO

P % Shaft P (HLA10VSO 140 XXX/31X-PPB12N00)

173

M27x3/

‘\

9180

184D E]

78

=3

L1

M27x2
275

\NEY

2bo

3315 '

SAE %= Flange SAE

K ## Shaft K (HLA10VSO 140 XXX/31X-PKD62N00)

173

L1

@ HILEAD

lg_g| M14 deep 19

View W
K % Max.
@
| WU R AR5

mech. displacement

161.6
64 | 920 1
1251 NC=28 _jl\l L CO ik, -?5— 20 38| \1/2-13 UNc-28
8 1/16-12UNF2B L[| = FT 1 View W deep 24
My = i = ] 5 - B
E 3{ ——— - 8 3 (f: AR . g Max.
o ! @
32| TL—Ce J MU BE 2 PR35
= — ; jF 8 é, (:) P 2, mech. displacement
|— i limiter
75 2 RS — ——
7 |Li 1 1/16-12UNF-2B 131 L1
W
275 ! 1/2-13 UNC-28 Min.
33715 doop2d |52
SH ShaftS
[ EhfA30°
1 13 &
T2 T 8/16 TR
> =Ep -
B § |36_| Pressure angle 30°
55 13T
67— 8/16 DP
-




HLA10VSO/31 RINEEEER
Variable Displacement Pump HLA10VSO/31 @ HILEAD

. #4177 Controller

A 2k (Static characteristic) ‘ WEJRFE (Circuit drawing)
DR FUH Size 18...100 A% Size 140

a e P43
! 1 A R v 0 4

Gy Y Is hﬁ?“; FEHEIE, SR ARG i it
AN X | e

l B F B g The pressure controller serves to
maintain a constant pressure in a
I hydraulic system within the control
‘ | range of the pump. The pump

| therefore supplies only the amount
N of hydraulic fluid required by the
i} H{j l_.—%] % e % e system. Pressure may be steplessly

" set at the control valve.
| Setting \rangk, Plbar

Qs nin 1
20 280 F {“
S Ly L S Lt L
DRG FA% Size 18...100 % Size 140 -
i) TR A«
‘{j AR 2 . 5524 B S5DRAAAT
A P L L RO BHEX L B R

B - i A pressure relief valve can be
——Ej& 3 connected to port X for remote

— - il X
Gy nax I ASTEDRG #5111 [ o
L N [y Function and equipment as for
g™ T b
I ey

B control applications; this is not
included in the items supplied
with the DRG

Uﬁ}l(ﬂ[%] ‘ 1 control.
S IER—
U uin Setting lrang?e Plban % e
20 280 [
S Li L S L1 L
i i I i
DFR/DFR1 #f% Size 18...100 A% Size 140 JE A/ R

—_ oo o B T TUIERISDAESY, (VTS0 C
dy h '

y p y  plused o Plusged BI—TFL) [ M 22 W] ESCRR A i
Uy s I~ o AR BEHIAT PG AL
WE]Q T HDERL, XEIHALIATE.
S L Function and equipment as for
R In addition to the pressure
B :& control function, the pump flow
o= = may be varied by means of a
{ differential pressure over an

‘ orifice or valvespool,installed in
VT |

w

the service line. The pump flow
e is equal to the actual required
% flow by the actuator.

Setting range | ppay

| The DFR1-valve has no
20 280

r“ connection between X and the
S Ly I S Li L tank.

% DFLR #f% Size 28...100 ks Size 140 ]
b T FE /3t /TR
Max power curve x X NTE S Fh AR D Rk B 2 Ik Eh
A, RIOWERE 2, ML
]él_ FPRL 5 T AR H 4
o TR 2k 2 T AT AT A ] .
=7 In order to achieve a constant
}(‘_jf drive torque with a varying
A% operating pressure, the swivel

= | L] angle and with it the output
H ! flow of the axial piston pump is
L. -E]E'} || =EIE‘7‘ varied so that the product of

i flow and pressure remains
%: | %: ”‘ | constant. Constant flow control
Plbar) is possible below the power
(. curve.
0 50 100 150 200 250280300 | {—
S

Li L

=

\IZJ_J &
EH

Mg

Min pgwer cufrv




HLA10VSO/31 RINEEHER
Variable Displacement Pump HLA10VSO/31

@ HILEAD

= IR r=A N
, —
o / /
l\ , |
| e,
! HL
HLA10V(S)O A10V(S)O
o t 1 ! }
st N nd | ;
C (1stPump) 4B | | (2"9Pump) ¢
—de
Al
A2
As
Az
As
HLALOV(S)O (1.Pump)

HLALOV(S)O HLAIOVSO18 HLAIOVSO28 HLAIOVO 45 HLAIOVSO71 HLAIOVO 100 HLAIOVO 140
(2.Pump) Al A, A A, A A; A, A, Al A, Ay A, A A, A, A, A A, A, A, 1% A K %
HLAIOVSO18 5.717.17 12.87 14.84 6.50 8.30 13.74 15.71 7.249.02 14.72 16.69 8.5410.51 16.22 18.19 10.83 13.31 19.02 20.98 10.83 13.78 19.49 21.46

(145)(182)(327)(377) (165)(204)(349)(399) (184)(229)(374)(424) (217)(267)(412)(462) (275)(338)(483)(533) (275)(350)(495)(545)

HLA10VSO28 - = = - 6.50 8.03 14.53 15.67 7.249.02 15.51 16.65 8.5410.51 17.01 18.15 10.83 13.31 19.80 20.94 10.83 13.78 20.28 21.42
(165)(204)(369)(398) (184)(229)(394)(423) (217)(267)(432)(461) (275)(338)(503)(532) (275)(350)(515)(544)

HLAI10VSO45 - - - - - - - 7.249.02 16.30 17.64 8.5410.51 17.76 19.36 10.83 13.31 20.55 21.93 10.83 13.78 21.02 22.40
(184)(229)(413)(448) | (217)(267)(415)(486) (275)(338)(522)(557) (275)(350)(534)(569)

HLAIOVSO71 | - _ _ _ - - ___ _ | 854105119.0620.63 | 10.8313.3121.8523.43 | 10.83 13.78 22.3223.90
(217)(267)(484)(524) (275)(338)(555)(595) (275)(350)(567)(607)

HLAIOVSO100| _ _ _ _ o - oL 10.83 13.3124.1325.79 | 10.83 13.78 24.61 26.26
(275)(338)(613)(655) (275)(350)(625)(667)

HLAIOVSO140! 10.83 13.78 24.61 26.26

(275)(350)(625)(667)

1. MRFAERTEHREMSE, WAMTERRSER v SEEER,

If a second pump must be factory mounted the two individual model codes must be combined with a

Model code pump 1+ model code pump 2.

1787~ Ordering example :

HLA10VO100DR/31R-PSC12K07 +HLA1I0VO71DR/31R-PSCI12N00

+



HLA10VSO/31 RIIZEHER G
Variable Displacement Pump HLA10VSO/31 @ HILEAD

i@%h KB2 . R~ Unit Dimensions Through Drives KB2

FEZ1S0 80, 2 7L, FTFIRANHLAIOVSOL0( 5% S, A BYZIEiR= ) SHHLAIOVSOIS( LM S H R, A BIZIEEKZ ),
Flange ISO 80, 2-hole for built-onHLAIOVSO 10 (splined shaft S, mounting flange A) orHLAIOVSO 18 (splined shaft S or R,
mounting flange A)

iT££ 842 Order code KB2

1 splined coupling
/7 19-4(SAE AB)
/_4 /3/4".16/320P:11T
| 58
NI 9%
‘ 8
€
% =
N =
10l | |
A,
to pump mounting flange A, [
Size main pump A, Ay
18 182 14.5
28 204 16
45 229 16
71 267 20
1#%h KB3 s R~ Unit Dimensions Through Drives KB3
A 1S0100,2 7L, FFRINHLAIOVSO28 3R ( #E42% S R )
Flange ISO 100, 2-hole for built-onHLAIOVSO28 (splined shaft S or R);
iT#£ %5 Order code KB3 4
— A2l splined coupling
22-4(SAE B)
4 /718'.16132DP:13T
N 88
R
8
e
V
w48
A s
to pump mounting flange A, " |~

Size main pump A, A, A,
28 204 19.2 14
71 267 16.5 18
100 338 17.6 18
140 350 182 24




HLA10VSO/31 RIITEHER

Variable Displacement Pump HLA10VSO/31

1@ %H KB4 o R~ Unit Dimensions Through Drives KB4

3XZ 180 100, 2 7L, FATFIRMHLAIOVSO45 3R ( TEi8%H S = R)
Flange ISO 100, 2-hole for built-onHLAIOVSO 45 (splined S or R);

1T &S Order code KB4

45.9

!

A
splined coupling
g 25-4(SAE B-B)

= /1 .16/320P: 15T
ﬁZ /

HILEAD

> 28
-t 53
3
e
B ~
10 §
to pump mounting flange A -
Size main pump A, A, A,
45 229 172 14
71 267 172 18
100 338 18.2 20
140 350 18.2 24
i@ #H KB5 7t R~ Unit Dimensions Through Drives KB5
K= 180 125, 2 7L, ATFIRMHLAIOVSO71 3R ( fEi8%H S = R)
Flange ISO 125, 2-hole for built-onHLAIOVSO 71 (splined shaft S or R);
{78521 S Order code KB5 A .
omitted on size 71 s brvrind
— 1147 12/24DP 14T
V. e
14
= M 88
oo
- -4 §9
R %
B omitted on size 71 =
©
1 s
A,
to pump mounting flange A,

Size main pump A, A, A,
71 267 20 18.5
100 338 20 25
140 350 21 32




HLA10VSO/31 RIITEFHER

Variable Displacement Pump HLA10VSO/31 @ H I LEAD

i@%h KB6 TR~ Unit Dimensions Through Drives KB6

SR IS0 125, 2 7L, FITFRAHLAIOVSO100 3R ( E42% S)
Flange ISO 125, 2-hole for built-onHLAIOVSO 100 (splined shaft S);

iT#5 %5 Order code KB6

9 splined coupling
T 38-4(SAE C-C)
11/2°12/24 DP;17T
/
A l I/ 88
S
.F_ = S3
&
\l N 5
10 <
to pump mounting flange A,
Size main pump A, A, A,
100 338 MI16:25deep 65
140 350  MI16;32deep  77.3
1@ KB7 JT14 R ~F Unit Dimensions Through Drives KB7
3RZ IS0 180, 4 7L, FAFIRAHLAIOVSO140 2R ( {E58% S)
Flange ISO 180, 4-hole for built-onHLAIOVSO 140 (splined shaft S);
iT£ 215 Order code KB7
1584
773 splined coupling
10 444(SAE D)
1 3/4°8/16 DP13T

- X
+0.05 \
©180+0.02 L

M16 10

to pump mounting flange 350




HLA10VSO/31 RYIZEFER (
Variable Displacement Pump HLA10VSO/31 @ H I LEAD

1B%H KO1 JTfE R~ Unit Dimensions Through Drives K01

75= SAE82-2, (SAE A,27l), AFHRMIMEEIR 1PF2G2, FFHRMHLAIOVSO18 3R (% U, ;5= C)
Flange SAE 82-2, SAE A 2-hole for built-on external gear pump 1PF2G2 orHLAIOVSO 18 (shaft U,flange C);
iT£5215 Order code K01

SectionA-B
As
9 Coupler for splined shaft
16-4, 9T 16/32DP
= / to SAE J744 OCT83
| g4
) 2
o
=
10
AI

to pump mounting face

Size main pump A, A, A

18 182 42 M10;14 deep
28 204 47 M10;14.5 deep
45 229 53 M10;14.5 deep
71 267 61 M10;17 deep
100 338 65 M10;17 deep
140 350 77 M10;17 deep

1@ %H K52 o1 R~ Unit Dimensions Through Drives K52

$5Z SAE 82-2, (SAEA, 2 7L), FATHRAHLAIOVSO 10 R ATRMHLAIOVSOI8 |/ (3 S = R, %% C)
Flange SAE 82-2, SAE A 2-hole for built-onHLAIOVSO10(shaft S, flange C) orHLAIOVSO18(shaft S or R, flange C);
178585 Order code K52
SectionA-B

Ay

Coupler for splined shaft

194,11 T16/32 DP
‘4 10 SAE J744 OCTE3
=

[ i
As
A
to pump mountng face

Size main pump A, A, A, A, A
18 182 40 17:5 43 M10;16 deep
28 204 39 17.5 47 M10;16 deep
45 229 40.5 17.5 53 M10;16 deep
71 267 40 17.5 61 M10;20 deep
100 338 40 17.5 65 M10:20 deep
140 350 41 17.5 77 M10:20 deep




HLA10VSO/31 RINTEHFER

Variable Displacement Pump HLA10VSO/31 @ HILEAD

1#%H KO2 jTf4 R ~F Unit Dimensions Through Drives K02

JRZ SAE 1012, (SAE B,27l), AFHRMIMERT 1PF2G3
Flange SAE 101-2, SAE B 2-hole for built-on external gear pump 1PF2G3

{7535 Order code K02

-— SectionA-B

Not with sze 28

9|
=  Coupler “or sphned shaft
22-4 13T16/32 DP
/1o SAE J744 OCT83

>
E
TR

]
2101.6.0020

VI

dl¥.

Not with sze 28 A

10 pup mourting face

Size main pump A, A, A,

28 204 47 M12;15 deep
45 229 53 M12;18 deep
71 267 61 M12;20 deep
100 338 65 M12;20 decp
140 350 77 M12;20 decp

1®%H K68 JTik R~ Unit Dimensions Through Drives K68

352 SAE 101-2, (SAEB, 27L), FAFIHMHLAIOVSO28 R (% S sl R, ;5= C)
Flange SAE 101-2, SAE B 2-hole for built-onHLAIOVSO28(shaft S or RE—flange C)
iT#£ 85 Order code K68

SectionA-B
A
Not with sze 28 As Coupler for splined shaft
| 22-4 13T716/320P
i / 1o SAE J744 OCT83
ke 28
3%
I %3
3
)
2
s
10
Not with size 28 ~
A
to pump mounting face
Size main pump A, A, A, A, A
28 204 43 16.5 47 MI12;15 deep
45 229 42 16.5 53 M12;18 deep
71 267 43 16.5 6l M12;20 deep
100 338 41 16.5 65 M12;20 deep
140 350 44 16.5 77 M12;20 deep




HLA10VSO/31 RIITEFHER

Variable Displacement Pump HLA10VSO/31 @ H I LEAD

1@%H KO4 JTi R~ Unit Dimensions Through Drives K04

752 SAE 101-2, (SAEB, 27l), FFHAMHLAIOVSO45 R (4 S E4H R, 5= C)
Flange SAE 101-2, SAE B 2-hole for built-onHLAIOVSO45(shaft S or R , flange C)

1T %2 Order code K04

SectionA-B
Coupler for splined shaft
26-4 15T 16/32DP
/ 10 SAE J744 OCT83
4 2R
7z as
=
(27777 i~
e
10
A
to pump mounting face
Size main pump A, A, A, A, A
45 229 475 16.9 53 M12;18deep
71 267 47.5 16.9 61 M12;20deep
100 338 475 16.9 65 M12;20deep
1@%H KO7 JT4E R~ Unit Dimensions Through Drives K07
75 SAE 127-2, (SAEC, 2#l), BFHRMHLAIOVSOT71 R (%4 S =% R, %= C)
Flange SAE 127-2, SAE C 2-hole for built-on HLAIOVSO71(shaft S or R , flange C)
T4 ) 2
1T ES Order code K07 Section A - B
Ad Coupler for splined shaft
Ai| 324, 14T12/24DP
— to SAE J744 OCT83
7/
Not with size 71 Not with sze 71 4
17
0~
o
S
il
Az
At N

to pump mounting face

Size main pump A, A, A,y A, Ay

7. 267 555 17.9 61 M16;18deep
100 338 57 17.9 65 M16;25deep
140 350 60 17.9 77 M16;32deep




HLA10VSO/31 RINTEHFER

Variable Displacement Pump HLA10VSO/31 @ HILEAD

&4l K24 TR~ Unit Dimensions Through Drives K24

iR= SAE 127-2, (SAEC, 2 %), FAFRIMHLAIOVSO100 3R (%S, E=C)
Flange SAE 127-2, SAE C 2-hole for built-onHLAIOVSO100(shaft S , flange C)
iT# %S Order code K24

SectionA-B
A
As Coupler for splined shaft
38-4, 17T12/24 DP
43 / to SAE 1744 OCT83
22
[ LA g9
_[_ e
» P
N ]
N
=
13
A
to pump mounting face
Size main pump A, A, A, As
100 338 8 65 M16;20deep
140 350 9 77.3 M16;32deep

1#%h K17 TR <t Unit Dimensions Through Drives K17

352 SAE 154-4, (SAED, 47.), AFHRIMHLAIOVSO140 IR (5 S, 5= D)
Flange SAE 154-4, SAE D 4-hole for built-onHLAI0VSO140(shaft S ,flange D)
1T£845 Order code K17

SectionA- B
77
10.5 Coupler for splined shaft

44-4, 13T&18DP
5 , to SAE J744 OCTE3

7 — - :

w

\% ®

>.
M16: 24deep = 13
A

tc pupmp mounting face






TRENREROERAT |

?

TRENDBRERGERQE

bk
v
f&H:
HBAE :
RIHE

TRERSHRBERETS
0574-5587 6868
0574-8790 4099
vip@hilead.cn

www.hilead.cn

Ningbo Hilead Hydraulic Co.,Ltd

ADD: No.7 Qingyi Road,Nataional Hi-tech Zone,Ningbo,China

(HED:
FAX:

0574-5587 6868
0574-8790 4099

E-MAIL:vip@hilead.cn

WEB: www.hilead.cn



